

Banach J. Math. Anal. 1 (2007), no. 2, 148–153

BANACH JOURNAL OF MATHEMATICAL ANALYSIS ISSN: 1735-8787 (electronic) http://www.math-analysis.org

A FIXED POINT APPROACH TO THE STABILITY OF AN EQUATION OF THE SQUARE SPIRAL

SOON-MO JUNG¹

This paper is dedicated to Professor Themistocles M. Rassias.

Submitted by K. Ciesielski

ABSTRACT. Cădariu and Radu applied the fixed point method to the investigation of Cauchy and Jensen functional equations. In this paper, we adopt the idea of Cădariu and Radu to prove the Hyers-Ulam-Rassias stability of a functional equation of the square root spiral, $f(\sqrt{r^2 + 1}) = f(r) + \tan^{-1}(1/r)$.

1. INTRODUCTION

In 1940, Ulam [16] gave a wide ranging talk before the mathematics club of the University of Wisconsin in which he discussed a number of important unsolved problems. Among those was the question concerning the stability of group homomorphisms: Let G_1 be a group and let G_2 be a metric group with the metric $d(\cdot, \cdot)$. Given $\varepsilon > 0$, does there exist a $\delta > 0$ such that if a function $h: G_1 \to G_2$ satisfies the inequality $d(h(xy), h(x)h(y)) < \delta$ for all $x, y \in G_1$, then there exists a homomorphism $H: G_1 \to G_2$ with $d(h(x), H(x)) < \varepsilon$ for all $x \in G_1$?

The case of approximately additive functions was solved by Hyers [6] under the assumption that G_1 and G_2 are Banach spaces. Indeed, he proved that each solution of the inequality $||f(x + y) - f(x) - f(y)|| \le \varepsilon$, for all x and y, can be approximated by an exact solution, say an additive function. Rassias [14] attempted to weaken the condition for the bound of the norm of the Cauchy difference as follows

$$||f(x+y) - f(x) - f(y)|| \le \varepsilon(||x||^p + ||y||^p)$$

Date: Received: April 7, 2007; Revised: August 15, 2007; Accepted: 1 November 2007. 2000 Mathematics Subject Classification. Primary 39B82; Secondary 47H09.

Key words and phrases. Hyers-Ulam-Rassias stability, square root spiral, fixed point method.

and generalized the result of Hyers. Since then, the stability of several functional equations has been extensively investigated.

The terminology Hyers-Ulam-Rassias stability originates from these historical backgrounds. The terminology can also be applied to the case of other functional equations. For more detailed definitions of such terminologies, we can refer to [4, 7, 8, 9, 10, 15].

Recently, Cădariu and Radu [2] applied the fixed point method to the investigation of the Cauchy additive functional equation (ref. [1, 13]). Using such a clever idea, they could present a short and simple proof for the stability of the Cauchy functional equation.

Assume that a function $f : [1, \infty) \to \mathbb{R}$ is monotonically increasing and satisfies f(1) = 0. If f satisfies

$$f\left(\sqrt{r^2+1}\right) = f(r) + \tan^{-1}\frac{1}{r}$$
 (1.1)

for all $r \ge 1$, then the resulting curve $\theta = f(r)$ is a continuous square root spiral, where (r, θ) are the polar coordinates. So the functional equation (1.1) is naturally called a functional equation of the square root spiral.

In 2000, Heuvers, Moak and Boursaw [5] investigated the general solution of Eq. (1.1) as follows:

Theorem 1.1. (Heuvers, et al.) The general solution $f : [1, \infty) \to \mathbb{R}$ of Eq. (1.1) is given by

$$f(r) = p(r^2) + \sum_{i=0}^{\infty} \left(\tan^{-1} \frac{1}{\sqrt{1+i}} - \tan^{-1} \frac{1}{\sqrt{r^2+i}} \right),$$

where p is an arbitrary periodic function of period 1. If f is monotonically increasing, then p is a constant function. In particular, if f(1) = 0 then $p \equiv 0$ and the curve $\theta = f(r)$ is the continuous square root spiral.

The Hyers-Ulam-Rassias stability of Eq. (1.1) was recently proved by using an elementary method (see [12]). In this paper, we will adopt the idea of Cădariu and Radu and apply a fixed point method for proving the Hyers-Ulam-Rassias stability of the same equation.

2. Preliminaries

Let X be a set. A function $d: X \times X \to [0, \infty]$ is called a generalized metric on X if and only if d satisfies

- (M_1) d(x, y) = 0 if and only if x = y;
- (M_2) d(x, y) = d(y, x) for all $x, y \in X$;
- (M_3) $d(x,z) \leq d(x,y) + d(y,z)$ for all $x, y, z \in X$.

Note that the only substantial difference of the generalized metric from the metric is that the range of generalized metric includes the infinity.

We now introduce one of fundamental results of fixed point theory. For the proof, refer to [3].

Theorem 2.1. Let (X, d) be a generalized complete metric space. Assume that $\Lambda : X \to X$ is a strictly contractive operator with the Lipschitz constant L < 1. If there exists a nonnegative integer k such that $d(\Lambda^{k+1}f, \Lambda^k f) < \infty$ for some $f \in X$, then the following properties are true:

- (a) The sequence $\{\Lambda^n f\}$ converges to a fixed point F of Λ ;
- (b) F is the unique fixed point of Λ in

$$X^* = \{g \in X \mid d(\Lambda^k f, g) < \infty\};$$

(c) If $h \in X^*$, then

$$d(h, F) \le \frac{1}{1-L} d(\Lambda h, h).$$

3. Main results

In the following theorem, by using the idea of Cădariu and Radu (see [1, 2]), we will prove the Hyers-Ulam-Rassias stability of the functional equation (1.1) for square root spirals.

Theorem 3.1. Suppose $\varphi : [1, \infty) \to [0, \infty)$ is a given function and there exists a constant L, 0 < L < 1, such that

$$\varphi\left(\sqrt{r^2+1}\right) \le L\varphi(r)$$
 (3.1)

for all $r \geq 1$. If a function $f: [1, \infty) \to \mathbb{R}$ satisfies the inequality

$$\left| f\left(\sqrt{r^2 + 1}\right) - f(r) - \tan^{-1} \frac{1}{r} \right| \le \varphi(r) \tag{3.2}$$

for all $r \geq 1$, then there exists a unique solution $F : [1, \infty) \to \mathbb{R}$ of Eq. (1.1), which satisfies

$$|F(r) - f(r)| \le \frac{1}{1 - L}\varphi(r)$$
 (3.3)

for all $r \geq 1$.

Proof. We set $X = \{h \mid h : [1, \infty) \to \mathbb{R} \text{ is a function}\}$ and introduce a generalized metric on X as follows,

$$d(g,h) = \inf\{C \in [0,\infty] \mid |g(r) - h(r)| \le C\varphi(r) \text{ for all } r \ge 1\}.$$

First, we will verify that (X, d) is a complete space. Let $\{g_n\}$ be a Cauchy sequence in (X, d). According to the definition of Cauchy sequences, there exists, for any given $\varepsilon > 0$, a positive integer N_{ε} such that $d(g_m, g_n) \leq \varepsilon$ for all $m, n \geq N_{\varepsilon}$. By considering the definition of the generalized metric d, we see that

$$\forall \varepsilon > 0 \exists N_{\varepsilon} \in \mathbb{N} \ \forall m, n \ge N_{\varepsilon} \ \forall r \ge 1 : |g_m(r) - g_n(r)| \le \varepsilon \varphi(r)$$
(3.4)

If $r \geq 1$ is fixed, (3.4) implies that $\{g_n(r)\}$ is a Cauchy sequence in $(\mathbb{R}, |\cdot|)$. Since $(\mathbb{R}, |\cdot|)$ is complete, $\{g_n(r)\}$ converges in $(\mathbb{R}, |\cdot|)$ for each $r \geq 1$. Hence we can define a function $g : [1, \infty) \to \mathbb{R}$ by

$$g(r) = \lim_{n \to \infty} g_n(r).$$

If we let *m* increase to infinity, it follows from (3.4) that for any $\varepsilon > 0$, there exists a positive integer N_{ε} with $|g_n(r) - g(r)| \leq \varepsilon \varphi(r)$ for all $n \geq N_{\varepsilon}$ and all

 $r \geq 1$; i.e., for any $\varepsilon > 0$, there exists a positive integer N_{ε} such that $d(g_n, g) \leq \varepsilon$ for any $n \geq N_{\varepsilon}$. This fact leads us to the conclusion that $\{g_n\}$ converges in (X, d). Hence (X, d) is a complete space (cf). the proof of [11, Theorem 3.1] or [2, Theorem 2.5]).

We now define an operator $\Lambda: X \to X$ by

$$(\Lambda h)(r) = h\left(\sqrt{r^2 + 1}\right) - \tan^{-1}\frac{1}{r} \ (r \ge 1)$$
(3.5)

for any $h \in X$.

We assert that Λ is strictly contractive on X. Given $g, h \in X$, let $C \in [0, \infty]$ be an arbitrary constant with $d(g, h) \leq C$, i.e.,

$$|g(r) - h(r)| \le C\varphi(r)$$

for all $r \ge 1$. If in the last inequality we replace r by $\sqrt{r^2 + 1}$ and make use of (3.1), then we have

$$|(\Lambda g)(r) - (\Lambda h)(r)| = \left|g\left(\sqrt{r^2 + 1}\right) - h\left(\sqrt{r^2 + 1}\right)\right| \le C\varphi\left(\sqrt{r^2 + 1}\right) \le LC\varphi(r)$$

for every $r \geq 1$, i.e., $d(\Lambda g, \Lambda h) \leq LC$. Hence we conclude that $d(\Lambda g, \Lambda h) \leq Ld(g, h)$ for any $g, h \in X$.

Next, we assert that $d(\Lambda f, f) < \infty$. In view of (3.2) and the definition of Λ , we get

$$|(\Lambda f)(r) - f(r)| \le \varphi(r)$$

for each $r \geq 1$, i.e.,

$$d(\Lambda f, f) \le 1. \tag{3.6}$$

By using mathematical induction, we now prove that

$$(\Lambda^{n} f)(r) = f\left(\sqrt{r^{2} + n}\right) - \sum_{i=0}^{n-1} \tan^{-1} \frac{1}{\sqrt{r^{2} + i}}$$
(3.7)

for all $n \in \mathbb{N}$ and all $r \ge 1$. Since $f \in X$, the definition (3.5) implies that (3.7) is true for n = 1. Now, assume that (3.7) holds for some $n \ge 1$. It then follows from (3.5) and (3.7) that

$$\begin{aligned} \left(\Lambda^{n+1}f\right)(r) &= \Lambda(\Lambda^{n}f)(r) \\ &= (\Lambda^{n}f)\left(\sqrt{r^{2}+1}\right) - \tan^{-1}\frac{1}{r} \\ &= f\left(\sqrt{r^{2}+n+1}\right) - \sum_{i=0}^{n-1}\tan^{-1}\frac{1}{\sqrt{r^{2}+i+1}} - \tan^{-1}\frac{1}{r} \\ &= f\left(\sqrt{r^{2}+n+1}\right) - \sum_{i=0}^{n}\tan^{-1}\frac{1}{\sqrt{r^{2}+i}}, \end{aligned}$$

which is the case where n is replaced by n + 1 in (3.7).

Considering (3.6), if we set k = 0 in Theorem 2.1, then Theorem 2.1 (a) implies that there exists a function $F \in X$, which is a fixed point of Λ , such that

 $\Lambda^n f \to F$; more precisely,

$$\lim_{n \to \infty} \left[f\left(\sqrt{r^2 + n}\right) - \sum_{i=0}^{n-1} \tan^{-1} \frac{1}{\sqrt{r^2 + i}} \right] = F(r)$$
(3.8)

for all $r \geq 1$.

Since k = 0 (see (3.6)) and $f \in X^* = \{g \in X \mid d(f,g) < \infty\}$ in Theorem 2.1, by Theorem 2.1 (c) and (3.6), we obtain

$$d(f,F) \le \frac{1}{1-L}d(\Lambda f,f) \le \frac{1}{1-L},$$

i.e., the inequality (3.3) is true for all $r \ge 1$.

By (3.8), we get

$$\begin{aligned} \left| F\left(\sqrt{r^2 + 1}\right) - F(r) - \tan^{-1} \frac{1}{r} \right| \\ &= \lim_{n \to \infty} \left| f\left(\sqrt{r^2 + n + 1}\right) - \sum_{i=0}^{n-1} \tan^{-1} \frac{1}{\sqrt{r^2 + i + 1}} - f\left(\sqrt{r^2 + n}\right) \right. \\ &+ \sum_{i=0}^{n-1} \tan^{-1} \frac{1}{\sqrt{r^2 + i}} - \tan^{-1} \frac{1}{r} \right| \\ &= \lim_{n \to \infty} \left| f\left(\sqrt{r^2 + n + 1}\right) - f\left(\sqrt{r^2 + n}\right) - \tan^{-1} \frac{1}{\sqrt{r^2 + n}} \right| \end{aligned}$$

for each $r \ge 1$. If in (3.2) we replace r by $\sqrt{r^2 + n}$ and apply the resulting inequality to the last equality, then we have

$$\left| F\left(\sqrt{r^2 + 1}\right) - F(r) - \tan^{-1} \frac{1}{r} \right| \le \lim_{n \to \infty} \varphi\left(\sqrt{r^2 + n}\right)$$

for all $r \geq 1$.

On the other hand, by applying the mathematical induction to inequality (3.1), we can easily prove that

$$\varphi\left(\sqrt{r^2+n}\right) \le L^n \varphi(r) \to 0 \text{ as } n \to \infty$$

for any $r \ge 1$, which means that F is a solution of Eq. (1.1).

Assume that inequality (3.3) is also satisfied with another function $G : [1, \infty) \to \mathbb{R}$ which is a solution of Eq. (1.1). (As G is a solution of Eq. (1.1), G satisfies $G(r) = G(\sqrt{r^2 + 1}) - \tan^{-1}(1/r) = (\Lambda G)(r)$ for all $r \ge 1$. That is, G is a fixed point of Λ .) In view of (3.3) with G and the definition of d, we know that

$$d(f,G) \le \frac{1}{1-L} < \infty,$$

i.e., $G \in X^* = \{g \in X \mid d(f,g) < \infty\}$. Thus, Theorem 2.1 (b) implies that F = G. This proves the uniqueness of F.

Corollary 3.2. For a constant a > 1, let $\varphi : [1, \infty) \to [0, \infty)$ be given by

$$\varphi(r) = a^{-r^2} \ (r \ge 1)$$

152

for some constant a > 1. If a function $f : [1, \infty) \to \mathbb{R}$ satisfies inequality (3.2) for all $r \ge 1$, then there exists a unique solution $F : [1, \infty) \to \mathbb{R}$ of Eq. (1.1) such that

$$|F(r) - f(r)| \le \frac{a^{1-r^2}}{a-1}$$

for all $r \geq 1$.

Proof. Since

$$\varphi\left(\sqrt{r^2+1}\right) = a^{-r^2-1} = \frac{1}{a}\varphi(r)$$

for all $r \ge 1$, we can set L = 1/a and apply Theorem 3.1 to this case.

References

- L. Cădariu and V. Radu, Fixed points and the stability of Jensen's functional equation, J. Inequal. Pure and Appl. Math. 4 (2003), no. 1, Art. 4, 7 pp. (http://jipam.vu.edu.au)
- L. Cădariu and V. Radu, On the stability of the Cauchy functional equation: a fixed point approach, Grazer Math. Ber. 346 (2004), 43–52.
- J. Diaz and B. Margolis, A fixed point theorem of the alternative for contractions on a generalized complete metric space, Bull. Amer. Math. Soc. 74 (1968), 305–309.
- G.L. Forti, Hyers-Ulam stability of functional equations in several variables, Aequationes Math. 50 (1995), no. 1-2, 143–190.
- K.J. Heuvers, D.S. Moak and B. Boursaw, *The functional equation of the square root spiral*, in 'Functional Equations and Inqualities,' (Edited by Th.M. Rassias), Kluwer, 2000, pp. 111–117.
- D.H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. U.S.A. 27 (1941), 222–224.
- D.H. Hyers, G. Isac and Th.M. Rassias, Stability of Functional Equations of Several Variables, Birkhäuser, Basel/Boston, 1998.
- D.H. Hyers and Th.M. Rassias, Approximate homomorphisms, Aequationes Math. 44 (1992), no. 2-3, 125–153.
- S.-M. Jung, Hyers-Ulam-Rassias stability of functional equations, Dynamic Systems and Applications 6 (1997), no. 4, 541–566.
- S.-M. Jung, Hyers-Ulam-Rassias Stability of Functional Equations in Mathematical Analysis, Hadronic Press, Palm Harbor, 2001.
- S.-M. Jung and T.-S. Kim, A fixed point approach to the stability of the cubic functional equation, Bol. Soc. Mat. Mexicana (3) 12 (2006), 51–57.
- S.-M. Jung and P.K. Sahoo, Stability of a functional equation for square root spirals, Applied Math. Lett. 15 (2002), 435–438.
- V. Radu, The fixed point alternative and the stability of functional equations, Fixed Point Theory 4 (2003), no. 1, 91–96.
- Th.M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), no. 2, 297–300.
- Th.M. Rassias, On the stability of functional equations and a problem of Ulam, Acta Appl. Math. 62 (2000), no. 1, 23–130.
- S.M. Ulam, A Collection of Mathematical Problems, Interscience Tracts in Pure and Applied Mathematics, no. 8, Interscience Publ., New York, 1960.

¹ MATHEMATICS SECTION, COLLEGE OF SCIENCE AND TECHNOLOGY, HONG-IK UNIVER-SITY, 339-701 CHOCHIWON, KOREA.

E-mail address: smjung@hongik.ac.kr